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3. a. The ordinary annuity will have a lower F.V than the annuity due by a factor of 1.1. Since the annuity due is paid at the beginning of a period, instead of the end, each payment benefits one more interest period than when annuity is paid at the end of that period. 

5 a. Pore management might be a factor causing the takeover, and the transfers of liability will most likely result in the acquired firm’s CEO losing his job. Regardless of the factors keeping the share price down, an under evaluated firm is always at risk of potential takeover, friendly or hostile, as long as there is sufficient capital in the markets (which doesn’t seem to be the care at the moment)
7. Bank 1:

EAR = (1+[0.1/4])^4 = 10.38129%
Bank 2:

EAR = (1+[0.09/365])^365 = 9.4162%
Difference: 0.96509% [a. 0.96%]
8. Want $10 annuity due at 7% = $100 invested at 7%

[F/A, I, N](1+i)
= [F/P, I, N](1+i)
By trial and error

(Using annuity DUE finction)

PV = $0

PMT = -$10

I = 7%

a.15 years
FV = $100(1.07)^(15+1) = $295.22

N = 15.89 = 16 years 

b. 10 years

FV = $100(1.07)^(10+1) = $210.49

N = 12.8 = 13 years

c. 18 years

FV = $100(1.07)^(18+1) = $361.65

N = 17.93 = 18 years

d. 7 years

FV = $100(1.07)^(7+1) = $171.82

N = 11.13 = 12 years

e. 8 years

FV = $100(1.07)^(8+1) = $183.86

N = 11.67 = 12 years

9. PV = $(360.39)
PMT = $25

N = 3

I = 8

FV = $372.79

Becomes

PV = $(372.79)

PMT = $30

N = 20

I = 8

FV = $364.69

Becomes

PV = $(364.69)

N = 17

I = 8

FV = 0

PMT = $39.98    [c. $40]
10.

	Y
	PMT
	Balance

	0
	0
	

	1
	-100
	-100

	2
	-100
	-210

	3
	-100
	-331

	4
	300
	-64.1

	5
	300
	229.49

	6
	300
	552.439

	7
	300
	907.6829


PV = $907.68/(1.1)^7 = $465.78
(a. $466)
11. When she is paying tuition:

PMT = -$50,000 (DUE)

N = 3 years

i=18%

PV = $128 282.10

Saving

PV = 0

N = 6 years

i=8%

FV = $128 282.10

PMT = $17 486.82    (c. $17,500)
12. PV = $100 000

N = 12

PMT = -$9,456

FV = 0

I/Y = 2% (Monthly)

Time 1; Owe $100,000(1.02) = $102,000; 

Payment 9,456 [Interest = 2,000; Principle = 7,456]; 

New principle = $102,000 – $9,456 = $92,544

Time 2; Owe $92,544

Interest paid = $92,544(0.02) = $1,850.88

Left for the principle $9,456 - $1,850.88 = $7,605.12    (b. $7,605.12)
13. PV = $20 000

N = 60

PMT = $444.89

FV = 0

I = 1% Monthly

Nominal = 12% [c. 12.00%]
14. b. =correct
(c. May also includes capital gain on bond if interest rates fluctuated and changed the PV (i.e. +- predicted value at t=1)
15.FV = $1,000

PMT = $50, 2/Y

N = 10 x 2 = 20

PV = -$1,297.58$

I/2Y = 3%

Nominal annual = (b.) 6%
16. YTM = 12% = 6%(2/Y)

FV = $1,000

PMT = $50$, 2/Y

N = 8 x 2 = 16

PV = $898.94 (a. The market price of the bond will decrease to about $899)
17.$45.83 / (1.3888) 32.9997 = 33$

(Ignoring the profit diluting effects of our wonderful taxation system, c. $33)
18.PV = $40

D1 = $2

K = 14%

g = ?

PV = D1/(K – g)

g = -D1/PV + K

g = -$2/$40 + 14% = 9%   [b. 9%]
19. Dividend at Y0 = $4

Dividend at Y3 = $4(1.15)^3 = $6.0835

Price at Y2 = D3 / (k-g) 
= $6.0835 / (14% - 10%) = $152.09
Price at Y0 = $152.09 / (1.15)^2 = [c.$115.00]   
20. D1 = $5250

PV = $5000 + $5250/(12%-5%) = $80 000  [D) None of the above]
21. PV = $40,000

I = 18%

FV = 0

PMT = ($11,435 )

N = 6   [c. 6 years]
22.PV = ($30,000)

I = 18%

N = 4

PMT = 0

FV = $58,163.33    [e. $58,200]
24.$40 x 5% = $2.00 

$37 x 10% = $3.70 

($3.70 – $2.00) / $2.00 x 100% = 85%   [e. 85%]
25.$1 400 / (1.1) = $1 272.72 + $1,400 = $2 672.72 / (1.1) = $2 429.75 + $700 = $3 129.75

$3 129.75 / 1.1 = $2 845.22 + $500 = $3 345.23 / 1.1 = $3 041.12

PV = $3 041.12

FV = 0

I = 10%

N = 4

PMT = $(959.38)      [d. $ 960]
26. $500(1.05)^4 = $607.75

$500(1.06)^4 = $631.23

Difference = [b) $23.49]
27. 

You need:

PMT = $(2,000)

N = 20 x 12 = 240 Months

FV = 0

I = 2/3

PV = $239,108.58
Becomes
FV = $239,108.58

N = 15 x 12 = 180 months

I = 2/3

PV = 0

PMT = $(690.99)   [d) $90.99]
28. 
PV = $(887.76)

PMT = 35
N = 10

FV = 1000

I = 3.95 Semi annually; YTM = 9.90   [d) 9.75-9.95%]
29. 

D1 = $1.40(1.05) = $1.47

PV = $1.47/(0.05) = $29.40   [e) $29.40]
30. Perpetuity starting at Y31:

$12 / 15% = $80 at Y30

Brought back to day 1:

80$ / (15%)^30 = 1.20824    [a) $1.21]
